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run:cyclenum {run == 5477}
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cyclenum

segment:cyclenum {run == 5477}
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cyclenum




usl_1X:cyclenum {run == 5477}
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cyclenum

usl_4eY:cyclenum {run == 5477}
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cyclenum

usl_4aY:cyclenum {run == 5477}
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cyclenum

usl_12X:cyclenum {run == 5477}
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cyclenum

usl_4eX:cyclenum {run == 5477}
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run:cyclenum {run == 5477}
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usr_1X:cyclenum {run == 5477}
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cyclenum

usr_4eY:cyclenum {run == 5477}
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usr_4aY:cyclenum {run == 5477}
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usr_12X:cyclenum {run == 5477}
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cyclenum
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usr_4eX:cyclenum {run == 5477}
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cyclenum
run:cyclenum {run == 5477}
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usl_caoil6:cyclenum {run == 5477}
—K T X
L SR oo e e
[ A P c * """
I P B PR N ST ST

4227 42275 4228 42285 4229 4229.5 4230

cyclenum
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usl_coil3:cyclenum {run == 5477}
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cyclenum

usl_coil7:cyclenum {run == 5477}
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usl_coil4:cyclenum {run == 5477}
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run:cyclenum {run == 5477}
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cyclenum
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usr_coill:cyclenum {run == 5477}
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cyclenum

usr_coil6:cyclenum {run == 5477}
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usr_coil3:cyclenum {run == 5477}
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usr_coil7:cyclenum {run == 5477}

4

TR R 2T FRRTE PR P
e e e e

cyclenum

4000

3000

2000

1000

o

5479

5478.5

5478

5477.5

5477

5476.5

5476

5475.5

5475

usr_coil4:cyclenum {run == 5477}
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cyclenum

run:cyclenum {run == 5477}
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cyclenum



1X_coill:cyclenum {run == 5477}
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4eX_coill:cyclenum {run == 5477}
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1X_coil3:cyclenum {run == 5477}
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cyclenum

4eX_coil3:cyclenum {run == 5477}

4227 4227.5 4228 42285 4229 4229.5 4230
cyclenum
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1X_coil7:cyclenum {run == 5477}
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cyclenum

4eX_coil7:cyclenum {run == 5477}
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4aY_coild:cyclenum {run == 5477} 4aY_coil6:cyclenum {run == 5477} 4aY_coil7:cyclenum {run == 5477}
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4eY_coild:cyclenum {run == 5477} 4eY_coil6:cyclenum {run == 5477} 4eY_coil7:cyclenum {run == 5477}
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12X_coill:cyclenum {run == 5477}
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cyclenum

12X_coil6:cyclenum {run == 5477}
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cyclenum
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12X_coil3:cyclenum {run == 5477}
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cyclenum

12X_coil7:cyclenum {run == 5477}
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cyclenum
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12X_coil4:cyclenum {run == 5477}
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run:cyclenum {run == 5477}
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